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General Instructions:

(1)
(i)

(i)

(iv)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section-A comprises of 8 questions of 1 mark each, Section-B comprises of 6 questions of 2
marks each, Section-C comprises of 10 questions of 3 marks each and Section-D} comprises
of 10 questions of 4 marks each.

Question numbers 1 to § in Section-A are multiple choice questions where you are required
to select one correct option out of the given four.

There is no overall choice. However, internal choices have been provided in 1 question of
two marks, 3 questions of three marks each ana 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Question numbers 1 to 8 carry one mark each. For each question, four alternative
choices have been provided of which only one is correct. You have to select the correct

choice.

fet sguiE 2 A H R R A SR s g r A @ a = 3q + . TEE r
it v & HEfE B -

(a) 0<r<3 (b) 1<r<3

{c} 0<r=<3 (d) 0O<zr=3

For any positive integer a and 3, there exist unique integers q and r such thata = 3q + r,
where r must satisfy.

(a) D<r<3 {b) 1<r<3

(c) D<r=3 (d) 0<r<3

T T AT 3R — ke + 6F AR A3 MRk F AL -

@ 9 ® 3 © =3 @ 6

If the sum of the zeroes of the quadratic polynomial 3x — kx +6 is 3, then the value of k
-

(@) 9 ® 3 (€ e o e

afc AABC~ APQR ¥ 3 AABC &1 Wfwm=32 &, APQR F WRHIG=48 ¥4t =1 PR #1
/ WA 6 95T &, @ AC Fi T aue o |

@ 9% () 4¥FF (@ 8¥W (d) 18FH

If AABC~ APQR, perimeter of AABC = 32 cm, perimeter of APQR = 48 cm and

PR = 6 cm, then the length of AC is equal to:
(a) 9cm (b) 4cm {c) 8cm (d) 18cm

X A tanf+cotd = 5, T tan2f + co2d FIHH & :
@ 2 ® 3 © 2 @ 15
If tanf + coth = 5, then the value of tan20 + cot?8 is :
W B s o oy @ h

7
(a) i EEmi by EfEmEEn R
(@)  @ved Jem g d) EHHENZ|
gt =
S
(a) a rational number (b) an irrational number
(c) a prime number {d)  anevennumber

21 vard Tuie € E fRE § T W wee 4 +3y = 14 §1 SH{ YE 1 9EeR 8 g

e
{a) Ix+4y = 14 (b) Bx+6y = 28
(<} 1224+ 9y = 42 (d) —12x =9y
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Two lines are given to be parallel. The eguation of one of the lines is 4x+3y = 14. The
equation of the second line can be :

(a) Jx+4y = 14 (&) Sxtby=28

(c) 12x+9y = 42 (d) —12r=9y

aft sec2A = cosec(A — 279) &, mﬁmvﬁqﬂiaﬁ‘m%ﬁrmﬁwm%:

&) AR by 3 (e) S (d)  21°
If sec2A = cosec(A — 27°) where 24 isan acute angle, then the measure of LA is:
W 3 i 3 @ S ) 21

(8. =geTh, ST MW 1 T AA §,
(a) Too® ai=ara q=d HuF w (by oo arara ga F9 @
() i STEdr w1 e 8 (q; i FelE AiERa g
Mode is the value of the variable which has :
(a) maximum frequency (b) minimum frequency
(c) mean frequency (d)  middle most frequency

H|UE-H f SECTION-B
T HEAr 9 ¥ 14 H Wow % 2 30 §)
uestion numbers 9 to 14 carry two marks each.
/Qmm’:%nq (HCF) 70 7.5, (LCM) 59: 9 391 459 ¥| afs us S 27 &, @ gudl
T A I |

HCF and LCM of two numbers is 9 and 459 respectively. If one of the number is 27, find
the other number.

10+ = fiam =gee 998y faus = 3 + 2 a3 - 3 ¥

Form a quadratic polynomial whose zeroes are 3 + /2 and 3 — V2
:»I./u@ﬁﬁﬂaﬁ.ﬁcaﬂgwimamacﬁhvﬁwmmmmﬁganmaﬁmgﬁrﬁnﬁw
S e T T TR L.

& F)
T I |
The sides AB and AC and the perimeter P; of AABC are respectively three times the
corresponding sides DE and DF and the perimeter P> of ADEF. Are the two triangles
ar [ AABC)

lar ? If find —
similar ? If yes, o (ADEF)

af cos (A + By =0 T4 sin (A—B) = %%,WA,Ba;raﬁm%,a‘mamB&ammaﬁﬁm

I cos (A+B)=0and sin ( A—B) = L, then find the value of A and B where A and B are

L]

acute angles.

)/'Qﬁﬁmxz+ px + q % YHE, TEIE 22 — Sx — 3 % Y1 % T & 9l p 991 g F 7F I
Fitan |
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If the zerces of the polynomial 2 + px + q are double in value to the zeroes of
2x? — 5x — 3, find the value of pand g

1‘.5/ e ST S27 B e ' i yaR 3 S s e & e -

| s 0-20 (20-40 [40-6U |60-80 Sﬂnlmj
i s g : | 5 - E | 5J
Convert the following frequency distribution to a more than type’ cumulative frequency
distribution.
Marks obtained |0-20 |20-40 [40-60 [60-80 |80-100 |
No. of Students 5 g e 8 N
7= JOR
=1 stiws = 95T | S

=% (§WiH) :  |0-10 [10-20 |20-30 |30-40 |40-50
Tawisidgsm:| 6 0 12 32 20 |
Find the mode of the following data.

Height (incms) | 0-10 |10-20 (20-30 [30-40 [40-50

No. of students E 30 | 12 0] e 20

TTE-9 / SECTION-C
THAHEA 158 4 7 7F F 3 e £
Question numbers 15 to 24 carry three marks each.

/;ﬁﬁ Hfi ¥, CD||LA 921 DE|JAC %1 4% BE~ 4 ¥ a1 EC=2 35 # 1 CL % w2 50

Eﬁ"}'Fqu;
A
D
B E ¢ L
In the given figure, CD|[LA and DE||AC. Find the length of CL if BE = 4 cm and
EC = Zem. '
A
D

[ qﬁuﬂmﬂﬂgﬁﬁf‘?y+2ﬂ?ﬁﬁ$§ﬁﬂ¥ﬁ§qﬁﬁﬁaﬁﬁﬁﬁﬂﬁiwlw%%r
a
If a and B are the zeros of the polynomial 612 — 7y + 2, find a quadratic polynomial whose
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%‘ﬁvﬁéﬂ@ﬁfﬁ‘am BC ¥ T4 BD = %cntu oz =it f6 2AC% = 24 + BC2

A

B D C

In the given figure, AD.L BC and BD = ; CD. Prove that 2AC* = 2AB? + BC2
A

B D C

379187 JOR
aﬁﬁaﬂﬂﬁ#ﬁﬁﬁw@%ﬁmﬁwﬁm%ﬁﬁmaﬂﬁﬂﬁawwmﬁm
If the diagonals of a quadrilateral divide each other proportionally, prove that it is a

frapezium.
Euﬂ — cosh s sinf + cos@ e
sinf + cos®  sinB —cosl  Zsin’@ - 1
Prove that
sind — cosé 4 Sin@ +cosB 2

sinf + cosl  sin® — cosd  Zsin'® — 1

’yw 600 SHER] Ft THITEF 29 e < 7
T (7. %) [ 0-1000 | 1000 - 2000 | 2000 - 3000 | 3000 - 2000 | 4000 - 5000 | 5000 — 6000

Wﬁﬂﬁﬁrﬁﬁﬂ:L 250 190 100 | 40 15 5

S S 1 HEAE WA A -

Weekly income of 600 families is given below.

. IncomeinRs | 0-1000 | 1000 - 2000 | 2000 — 3000 3000 - 4000 | 4600 - 5000 | 5000 — 6000

'qu.offamﬂim 250 T 100 - 40 15 5

Find the median.

BWUE-g/ SECTION-D
T HE 25 0 34 F wE F 4 97w £

Question numbers 25 to 34 carry four marks each. )
B s i fell eyl 1 S 4 m s 4 m o+ 1% B9 B Y, w6 m oA o

Show that square of any positive integer is of the form 4 m (or} 4 m + 1, where m is any
integer.
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Prove that </5 is irrational and hence show that 3 + 5 s also irrational

510@92%11@%&&@54}!%1@%%%

(RE.) x (GH.) =27 Sems =i e |
Find the HCF and LCM of 510 and 92. And verify ghat HICF x LCM = Product of two
given numbers.

\y/ﬂ'ﬁaﬁm:
2

Sec 41°.5ind9” + cos29° cosecbl” — :ﬁr{tanﬂ'ﬂ.m}'ﬂ“

3{sin’31° + sin”59°)
Sec 41°sind9® + cos29°.cosectl’ ~ %{tanm‘,mxﬁﬂ‘.mn?ﬂ“
)

Evaluate e —
3(sin®31° + sin’ 5%)

19/ wFT g S S 6 0 a2 -2 FEhS 1l +x0 432 — 2% — 3 1 OAETS 2
Check by division whether 2%~ 7isafactorof x4+ ¥+ 2—2x—3

}V’ﬁﬁm‘ﬁ?ﬂ‘g’wﬂ%xamﬁ=mrﬁaﬁm:

2 3 2 2
a Bl ab  ba _sb,x#0y =0
X ¥ x Yy
Solve the following pair of equations for X and y
¥ s & z
_3___15'____ ;,a'_b..i.k.isa-i*b,xi[];y#ﬂ
xr ¥ x y

a1erar, OR

mﬂﬁqﬁwﬁmtﬁﬂwwmmﬁmh afe &, 91 7% &9 FA RO :

7x — 4y = 49; 5x — 6y = 57
Find whether the following pair of linear equations has a If unique solution ves, find the

solution.

B/«-4y=49;5x—6y=5?
e SAieRE] 3 A T R
| =i [ 0% = [20dwn | 03P R ‘mﬁm‘q
lWRﬂT\ Tkl ll ?4[99\121:!
Find the mean of the following data. ;
|C1ass Tless than 20 kless mand-ﬂ_i_.ess than 60 11955 than 80 | less than 100
[Frequency | 15 82 i, [t it 120
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Mﬁaﬂmw x + 3y = 6; 2x—3g = 12 T Y% GFI & A6 il | §F FHE G
Forafir Yanall adn y - w17 | =+ Prys = S o 9 Fifaw
Solve the following pair of linear equatiens graphically.
x+dy=6; x-3y=12
Also find the area of the triangle formed by the lines representing the given equations with
Y —axis.

- L

)?‘/'qﬁcusﬂcﬂ + cotd =p%ﬁ\!f§33ﬁmﬁmﬁﬂ = I;,—i #

If cosecd + cotd = p, then prove that cosd = £ —

= : 0-10 10-20 | 20-30 | 30-40 | 40-50 | 50-60 ElL|

ARG 5 x 6 v 6 5 40

Find the values of x and y if the median for the following data is 31.
Class | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | Total

quuencyi 5 ¥ S v & 5 40

}/ﬁm%ﬁqx—u@]am © —35x —5x +15/5, F UF [oErE ¥, 4 59 9gE F gt
I T wifa |

Given that x — /5 is a factor of the polynomial x* —3./5 x* —5x + 155, find, all the
zeroes of the polynomial.

3reraT/OR
T fom it S 9 o S i A % AN w1 g €1 20 FY uvene SHE @, 96 a= a6t

A1 % 4 F e N i 1 A 9 e
The age of the father is twice the sum of the ages of his 2 children. After 20 years, his age

wijll be equal to the sum of the ages of his children. Find the age of the father.
J)A:ﬁﬁqfﬁﬂﬁﬁﬁﬁﬁaﬁ%ﬁﬂﬂﬂﬁaﬁﬁwﬁ#ﬁﬁ T F e E, A
TEH S WA FIV THE Gl B

Prove that if in a triangle, the square on one side is equal to the sum of the squares on the
other two sides, then the angle oppuosite to the first side is a right angle.

319/, OR _
fog Fif o < woey sl & duhel =1 ST SR S YTl & SR & a7 & AR
g ¥

Prove that the ratio of the areas of two similar triangles is equal to the ratio of the squares

)/obﬁ»&r corresponding sides.

3 = ey

fag =ifaw . jeech =3 + || +;r2cosecﬂ
ech —

" Vsecd +1
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[sec—1 _ [sech+1
VsecB +1  Vsech -1
\q\\v é/ﬂrga@ﬁﬁma?ﬂmwmwﬁgﬂucﬁmﬁwsﬁﬁwﬂwﬁ
2\ T &1 fag S fF 4(BL” + OM7) = 5BC
B

= 2 cosech

Lﬁ’? N Prove that :

o L A
In the given figure, BL and CM are medians of a triangle ABC right angled at A Prove that,

4BL? + CMT) = gﬁc‘

M

C L A

o

wF = s ABC H A sin (A+B-C)= % F cos (B+C—A)= % Eat A, BT
ZC 7w &ifaw)

1
In an acute angled triangle ABC, if sin (A + B —C) -; andcos B+ C = A)=—=

5

find £ZA, ZBand £C
L}{ Frfafay 927 ¥ g 'R R R B g 'Y e SR & AR e R W

EiEEE
a1 ARER

20-30 10
30-40 8
40 - 50 12
50 - 60 24
60-70 6
70-80 25
80 - 90 15

Draw “less than ogive” and “more than ogive” for the following distribution and hence

find its median.

| Class | Frequency !

- 20-30 10
30-40 | g
40 - 50 T
5[} 60 24
(60-70 | [ 6

[ 70-80 | \ 25

| _80-90 35 |

-g0o-
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